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251 |+ AREB [FeFHMEHh mH2 e2m [ H 6 RC 4] 1, 416] MR *
262 |+ KRER [FEFHMEH 33 eE&m [ H 6 RC 4] 1,416] FmE *
263 |+ ARER [FEFHMEH b ian ) '/em [H 7 RC 4] 1,335 MR *
254 [LARER |53 HH =D e o M RC 4] 1. 335] Fri *
265 |+ ARE [FEHMEH 36 /em [ H 8 RC 4 1,254 i E *
256 |TARER [FEFHMEH ksl '/em [H 9 RC 41, 254 I E *
257 |£R# [FEFHMHH 38 '/em [H 10 RC 4 1,335 FmE *
258 |t R# [FEFHMt 9 '/em [ H 11 RC 4 1,335 FmE *
259 |+ AE [EXMHi# EEd /eh [ S 46 RC 51,3200 A *
260 |+ AEB [EXMHiH Ex2 =/eh [ S 46 RC 5[ 1,325 A *
261 |+ AE [EXMH# Z%3 '/eth [ S 47 RC 5[ 1,256 A *
262 |+ AEB [EXMHH Z%5 e/eth [ S 47 RC 5[ 1,791 A *
263 |+ AEB [EXRMHH ZEX6 =em [ S 48 RC 5[ 2,054 A *
264 |+ ARER [EXMHH EX] 2B2h [ S 48 RC 5[ 2,054 A *
265 |+ ARER [EXMHHh ZX8 fgBeh [ S 48 RC 5[ 2,054 A *
266 |+ AER [EXMHH EX9 fgB2h [ S 48 RC 5[ 2,054 A *
267 |TARE [EXMHH Z%10 EE™H | S 48 RC 5[ 2,685 A *
268 |+ AER [EXMHHh EXEI EE™H | S 48 RC 5[ 2,349 A *
269 |+ ARER [EXMHH ZEX13 EE™H | S 49 RC 5[ 2,449 A *
270 |+ ARE [EXMHH Ex14 #Bm | S 50 RC 5[ 2,395 A *
271 | KRE [EXHH EX15 gB&m | S 50 RC 5[ 2,395 A *
272 |+ KRE [EXMHH ZEX16 &Bm | S 53 RC 5[ 2,014 A *
273 | KRE [EXHH Ex1 fgB&m | S b1 RC 5[ 2,531] A *
274 |+ KRE [EXHH EXx18 fgB8m | S b1 RC 5[ 2,531] A *
275 |+ KRE [EXMHH EX19 B | S 5l RC 5[ 2,531 A *
276 |+ ARER [EXMHHh E%20 'EmH | S 52 RC 5[ 2,014 A *
277 [T KREB [EXMHH EX21 B | S 52 RC 5[ 2,014 A *
2718 |+ ARER [EXMHih EX22 fgEh [ S 53 RC 5[ 2,014 A *
279 | KRH [EXRHH E3x23 fge&m | S 54 RC 5[ 1,343] A *
280 |+ KRE [EXRHH E3x24 i=1=ntl S 54 RC 5 1,343] A *
281 | KRE |EXEH ZE 336 =1l S 56 RC 3 1,011 FTitE *
282 |+ K& |ERIREHL ERIR 1 =1l H 27 RC 4 1,608 M= *
283 | KA |BRIREih iR 2 =1l H 27 RC A 1,244 FmE *
284 [T A% [SRiREH BRIR 3 &M | H 27 RC 4] 1, 608] it &= *
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X 73

285 i?(EB §||E;‘R2i$ 3%5}121 il H 28 S 3] 1,889 $himtE *
286 |t A& SR 3 SRX2 | H 28 S 3| 2, 145] EHimE *
287 | £ K& [dLR X HiHh JLRX3 | H 28 S 3| 2,169 EFHimE *
288 [EARE [dLRX s LR X4 | H 28 S 3| 2,319 EHimE *
289 |+ K& [JLRXHib JEiR X5 W [ H 28 S 3| 1, 416| EHimE *
290 |+ K& [JLRXHHb LR X6 W [ H 28 S 3| 2,086| FHiE *
291 [ERE [dLR XA JE;R X 50 m | H 30 W 3[ 2,468 #mE *  |H30%
292 | K& [dbR X Hb 3t R X 51 m [ H 30 W 3| 2, 468 T E *  |H30%
293 [+ KR#E [dehkMHh Jreh g | H 28 RC 4] 1,909] grmE x
294 [ ARER [dbhRHih b2 H 28 RC 4 1, 590| Frifit = %
295 [ ARER [dbchRHih b3 H 28 RC 4 1,590| Frifit = %
296 [ KRE | BHEHH AE1 H 28 S 3 2, 490| $hi = *
297 |+ KEH [HEMH 552 H 28 S 3| 2,969 it *
298 |+ K& [HEMH A3 H 28 S 3| 2, 787] it *
299 |+ KE [HEMH a&4 H 28 S 3| 2, 787] it *
300 |+ K& [HEMH a5E5 H 28 S 3| 2, 698] it *
301 [£XKE | AEHH 556 H 29 S 3| 2875 | #hmt *
302 [ KRER |FRMih =1 H 29 RC 4] 3,401 | *
303 [£RE |FH=EHI =21 H 29 RC 4l 2492 | #ifd *
04 (BB |HBEt- R S 40 RC 4] 1,590 A [H302K{& b I *
B EHE SIS A () S 46 SRC+S 5] 1,317] A [H23z{& b I *
306 (BT |[BEtYI- AfE () S 46 RC 5[ 1,082 A [H28zi& b I *
KNHEEHE SIS A (78) S 46 SRC+S 5 1,317] A [H24=i& b I *
308 (BT |BEtYI- 1ERiE S 46 RC 2] 1,073] A b I *
309 (BT |[BEt- & A S 46 RC 4] 2,164] A [H30K{E b I *
310 | BT |BELS- FEEE S 56 S 1 825 A [H19z{& b I
1 | BEBT BB e H 2 RC 2 596| Friit = b I
312 BT |KEEE S 59 SRC 39,017 FmtE b I *
313 | BT =R S 59 RC 2| 9, 586| FimtE b I *
4 |BBET [BRZBELNE S 50 RC 4 1,444 A *
315 |HEBERF [REZEAELE S 58 RC 5[ 1,085 #rE *
316 |HBET |HMEZBEENE HE 1 H 4 RC 4] 1, 643] *
N7 |BBET HEXBENE mE 2 H 5 RC 4] 1, 006] x
318 |ZEERALR [ZRWPFK ¥t AR S 48 RC 1 543 A b II
319 [ERAL [ZREFRK ¥t 4g2 S 58 RC 1 255| #hifit b II
R ETE ZSETES B3 S 56 RC 2 871 A b II
321 [ZERAL (EATHHH EAT S 48 RC 5/ 1,002] A *
322 |ZERAL[HEAGFHRES EES S 55 RC 5/ 1,538] c [R2KEEFE *
323 zgiiﬂ it 7§Tﬁ% HHAE S 59 RC 4] 1,618 iﬁﬁﬁ% *
324 |ZRAL[EHEHES T S 59 RC 41 1,078] #imE *
325 |ZEAL (hMFFHRES HiE s [ S 62 RC 4 1,078 g E *
326 [(ZE=AR|HEFHES @ BA il H 2 RC 4] 1,126) Frif= *
321 |ZuAL MESFHES FIET i | H 2 RC 4] 1,684] FHfE *
328 [ZE=AR |HEREE HEMEE il H 4 RC 3 1,138| Fit= *
320 [(E=AR|EEFHES 25 i | H 7 RC 40 1,272 i E *
330 [ZE=AXE EJ%B{#’&EQ i ERA il H 8 RC 4 1,272 #FiE %
33 [BEEAD |HEEHES id #RB il H 8 RC 4 1,272 #FimE %
332 |ZmAL [ FHERES FEEFA i | H 10 RC 4] 2, 049] FHifitE *
333 |ZRAR | FTHERES T 38 H 10 RC 4l 2 049 FHE *
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